FEB 2 1 2025 0am UPLB-RQ-02-039-25-60015
DEADLNE OF SUBMISSION



UNIVERSITY OF THE PHILIPPINES LOS BANOS

Los Banos, IV-A VAT Reg. TIN: 000-854-006-00004

Request for Quotation/ Bid Form (Technical Specifications) OFFICE OF THE CHANCELLOR

	UPLB-RQ-
	DEADLINE OF SUBMISSION:
February 05	, 2025
N8-402-00; N8-404	-21 ; N8-401-
47; N8-40	9-21
Small Value Pro	curement
96499797	787
11.	

PN# 2019- a- 03018

- Quotation through fasiemail is acceptable. Winning bidder shall submit original signed RQ before issuance of Purhaser of S. Quotations exceeding the Approved Budger for Contract shall be rejected.
 Obcumentary requirements per Memorandium No. 03 Series of 2017 shall be attached upon submission of the quotation 7, Others:

RFQ FOR PR # 2025-02-03018 Vehicle Parts and Accessories for UPLB OC Vehicles

ITEM No.	GENERAL NAME OF THE	REQUIRED SPECIFICATIONS	UNIT OF MEASUR E	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank, For BAC/ Evaluators only)
1	Wiper Blade	Aero Dynamic Banana Type Hybrid Wiper Blade 24 inches Low Profile Design Fully Covered matt black body with graphite water repellant coating for smooth wiping Super cut rubber edge U hook type	рс	8	850.00	6,800.00				
2	Wiper Blade	Aero Dynamic Banana Type Hybrid Wiper Blade 22 inches Low Profile Design Fully Covered matt black body with graphite water repellant coating for smooth wiping Super cut rubber edge U hook type	pc	4	850.00	3,400.00				
3	Wiper Blade	Aero Dynamic Banana Type Hybrid Wiper Blade 20 inches Low Profile Design Fully Covered matt black body with graphite water repellant coating for smooth wiping Super cut rubber edge U hook type	pc	4	800.00	3,200.00				
4	Wiper Blade	Aero Dynamic Banana Type Hybrid Wiper Blade 16 inches Low Profile Design Fully Covered matt black body with graphite water repellant coating for smooth wiping Super cut rubber edge U hook type	pc	4	700.00	2,800.00				

RFQ FOR PR # 2025-02-03018 Vehicle Parts and Accessories for UPLB OC Vehicles

TEMS No.	GENERAL NAME OF THE STIME		MET OF	ary	ENTERATED UNIT APPROVAD BUDGET OF THE CONTRACT	ESTERATED TOTAL APPROVED BLADGET OF THE CONTRACT	companies constraint that the designation and state that the designation and specifications of the techniques personal or of the techniques personal or of the requirements.	CARCITATO LINET PRICE	TOTAL QUOTED PRECE	A.save this opens blents Per (LAZ) (Evelopters only)
5	Wiper Blade	Aero Dynamic Banana Type Hybrid Wiper Blade 26 inches Low Profile Design Fully Covered matt black body with graphite water repellant coating for smooth wiping Super cut rubber edge U hook type	рс	2	1,000.00	2,000.00				
6	Wiper Blade	Aero Dynamic Banana Type Hybrid Wiper Blade 18 inches Low Profile Design Fully Covered matt black body with graphite water repellant coating for smooth wiping Super cut rubber edge U hook type	pc	2	750.00	1,500.00				
7		compact horn with integrated compressor Voltage: 12V Current consumption: 20A Fuse: 25A TONE: Single, Deep, 310Hz Tone with Bullt-in Compressor Volume: 110 db with R4M relay 4 pins, 30A, IP43 Protection	рс	2	3,400.00	6,800.00				
8	integrated	Compact twin tone horn with integrated compressor Voltage: 12V Current consumption: 20A Fuse: 25A TONE: Two Tone, 520 and 660 Hz with Built-in Compressor Volume: 112 db with R4M relay 4 pins, 30A, IP43 Protection	рс	2	3,400.00	6,800.00				
9	Deep Dish Car Floor Matting	Deep Dish Car Floor Matting for Toyota Rush 2021 7 seater 5 pieces Premium floor mat and floorliner Multi-Layer Structure (top layer: durable and water reistant PVC, middle layer: eco-friendly and non-toxic material white EVA Foam, Bottom layer: Anti-slip Fabric) 100% WaterProof, Dustproof, Fire Resistant, scratch resistant, 360 protection, Soundproofing quality with 1 year warranty	set	1	11,500.00	11,500.00				

RFQ FOR PR # 2025-02-03018 Vehicle Parts and Accessories for UPLB OC Vehicles

	ITEM	REQUIRED SPECIFICATIONS	MEASUR E	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	(Leave this space blank, Fe BAC/ Evaluator only)
10	Car Charger	In-vehicle Car Charger Expand Quick Charger 3U+3C PD QC SCP FCP AFC Input: DC 12V-24V 12A (Max.) Type-C1/Type-C2 Output: 5V=3A; 9V=3A; 12V=2.5A; 30W (Max.) USB-A1 Output: 5V=3A; 9V=3A; 10V=2.25A; 12V=2.5A; 30W (Max.) Type-C3 Output: 5V=3A; 9V=2.22A; 12V=1.67A; 20W (Max.) USB-A2/ USB-A3 Output: 5V=3A; 9V=2.0A; 10V= 2A; 12V=1.5A; 20W (Max.) Type-C1+USB-A1+Type-C2+ Type-C3/USB-A2/USB-A3Output: 110W Type-C3+USB-A2+USB-A3Output: 5V=3.4A Compatible with Vehicles cigarette socket (12V-24V) Dual-sided Clamps secured stable connections Output Interface: 3 USB-A Ports, 3 USB-C Ports 2+4 Modular Design, 1.5 Meter extended cable for 4 ports.	рс	4	1,300.00	5,200.00				
		Car Inverter DC 12V to AC 200V-240V 50Hz Auto Converter EU CN Socket High Power Supply Station 150W Type-C USB Fast Charging Power Adapter Five-port Output Port: A+C/2AC output /Cigarette lighter input DC Input: 12V/20A Max. DC Output:Output: USB Output: 4.5V/5A;5V/4.5A;5V/3A;9V/2A;12V/1.5A Total Output: 5V/5A Rated power: 150W Output voltage: AC 110V-120V/220V~50Hz 150W Max. (corrective wave) Independent Switch Button of AC power supply Size: 170x68x37cm Length of cigarette lighter cable: 40cm + connector Safety Protections International Certifications: Overcharge Protection, Short-circuit Protection, Shutdown Protection, Overload Protection, Overvoltage Protection, Undervoltage Protection, Protection Against Electric Shock High Temperature Protection Impact Protection	рс	2	2900	5,800.00				
				T	OTAL ABC	55,800.00				

ERIC O. REPOLDO

IERMS AND CONCITIONS.

1. Price operations shall be valid to a period of all least (30) calendat days from the date of submission.

2. In order to assume that manufacturing defects shall be corrected by suppler, a varianty security shall be required from the contract assuming for a minimum period of three (3) months, in the case of EXPENDABLE SUPPLIES, or a minimum of one (1) year warranty and two (2) to three (2) years extended warranty (if applicable) in the case of NON-EXPENDABLE SUPPLIES after acceptance by End-user of the deferred supplies.

Delivery period within 30 calendar days.
 Award of contract shall be made to the lowest quotation wich complies with the technical specifications, and other terms and condition stated herein SLPUB treasures the right to reject any or all offers as may be considered most advantageous to the University.
 Any interfereations, sessure, or overwriting shall be valid only if they are signed or indisted by you or any of your duly authorized representative's.

Requirements for Suppliers (GPPB Resolution No. 21-2017)

REQUIREMENTS | Shopping | Negotiated | Negotiated Procurement | Scientific | Social Procurement | Scientific | Mayor's/Business Permit
Revised 6 June 2016/JOWT BAC RESOLUTION NO. R-206-16

RFQ FOR PR # 2025-02-03018 Vehicle Parts and Accessories for UPLB OC Vehicles

No.	GENERAL NAME OF THE	REQUIRED SPECIFICATIONS	UNIT OF MEASUR E	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank, For BAC/ Evaluators only)
	PhilGEPS Registration Number		1		/	/	/	1		•
	Professional license/ CV (consulting	services)	500000	ATTACK!	/		/	THE PARTY OF THE P		
4	PCAB License (for Infrastructure)			D.	/					
		opt for government agencies as lessor)	10000		FOR ABC'S ABOVE 500K	/	7	FOR ABC'S ABOVE 50K		
-71	Omnibus Sworn Statement				FOR ABO'S ABOVE SOK			FOR ABO'S ABOVE SOOK		
	NFCC for Infrastructure with ABC ab	bove PhSOOk	1-20x09CU		1	THE PROPERTY AND PROPERTY OF THE PARTY OF TH		FOR ABC'S		
			30.36	1000		Sharks		ABOVE 50K]	
After h	aving carefully read and accepted If the Company:	your General Conditions, I'We quote you on the item at prices noted above.		1000		Tel, No. :				
After h	aving carefully read and accepted If the Company:	your General Conditions, I/We quote you on the item at prices noted abovs.				Tel. No. : Far No. :			-	
After h Lame o Address	aving carefully read and accepted If the Company:	your General Conditions, UWe quote you on the item at prices noted above.		100					-	